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SIX500V1 Si—-R GX500 JLAYZA=ILEFIVO1 ¥1,495,000 ¥1,749,200

SIG211V20 Si-R G211 FLAYAM=IEFIIV 20 ¥195,300 ¥228,500

SIG210V20 Si-R G210 FLAYAM=IEFIVV 20 ¥149,300 ¥174,700

SIG121V20 Si-R G121 FLAYAM=IEFIIV 20 ¥134,500 ¥157,400

SIG120V20 Si-R G120 FLAYAM=IEFIVV 20 ¥100,000 ¥117,000

SIG110BvV4 Si—-R G110B JLAYZA=IETIV 4 ¥112,700 ¥131,900

ATy SIXPW ZEEERATYIY ¥287,500 ¥336,400
PWCBL-B003 = ¥5,100 ¥6,000

SJ-PWCBL2  |ERI—TJIL (2 0 0 Vi) ¥6,400 ¥7,500

SIGUSBG U S BRERSLEHAE ¥1,200 ¥1,400

SH-SFPSX SFP-GBIC (1000BASE-SX) ¥86,300 ¥101,000

SISFPLX SFP-GBIC (1000BASE-LX) ¥227,700 ¥266,400

SIGANT1 EET-TINGELT ET7>TH ¥15,000 ¥17,600

SIR370RUB | Sy Ediiis ¥38,000 ¥44,500

SIR2RUB SyDEHEHEE ¥11,400 ¥13,300

SIGRUA SYDEEHEHEE ¥21,900 ¥25,600

Z1YF X% SJ752TR120 |SR-S752TR1JLAYZAR=ILEFIVV 2 0 ¥1,214,400 ¥1,420,800
SJ732TR120 |SR-S732TR1JLAYZAR=ILEFIVV 2 0 ¥705,900 ¥825,900

SJ352TR120 |SR-S352 TR 1JLAYZAR=ILEFIVV 2 0 ¥759,000 ¥888,000

SJ332TR120 |SR-S33 2 TR 1JLAYZAR=ILEFIVV 2 0 ¥440,300 ¥515,200

SJ324LE120 |SR-S324 LE 1JLA>ZAR=ILEFIVV 2 0 ¥218,800 ¥256,000

SJ320LE120 |SR-S320LE1JLAYZAR=ILEFIVV 20 ¥159,800 ¥187,000

SJ312LE120 |SR-S312LE 1JLAYZAR=ILEFIVV 20 ¥106,300 ¥124,400

SH1516ATE |SH1516ATE ¥58,100 ¥68,000

SH1508ATE |SH1508ATE ¥33,900 ¥39,700

SH1508ATME |[SH1508ATME ¥26,000 ¥30,400

ATy SISFPASR 10GBASE-SRASFP+ ¥253,000 ¥296,000
SISFPALR 10GBASE-LRASFP+ ¥506,000 ¥592,000

PX-CR1A05 10GBASE-CRY—JI (5m) ¥57,000 ¥66,700

SISFPBXU SFP-GBIC (1000BASE-BX-U) ¥291,000 ¥340,500

SISFPBXD SFP-GBIC (1000BASE-BX-D) ¥291,000 ¥340,500

SISFPZX SFP-GBIC (1000BASE-ZX) ¥885,500 ¥1,036,000

SISFPFX SFP-GBIC (100BASE-FX) ¥58,200 ¥68,100

SIPWA A CEFATI 3> ¥124,000 ¥145,100

PWCBL-B003 = ¥5,100 ¥6,000

SJ-PWCBL2  |&R—TJIL (2 0 0 Vi) ¥6,400 ¥7,500

FSPD1003 USBXEY (SR-S/SR-M/S i —RH) ¥20,000 ¥23,400

SH1RUGO1 SyIEMTER A ¥2,900 ¥3,400

SH1500MG SEST N ¥3,500 ¥4,100

SIMG1 SEST N ¥4,500 ¥5,300

HRIRLAN X% SIM630A120 |SR-M6 3 0AP 1JLA>ZAR=ILEFILV 2 0 ¥107,800 ¥124,000
SIM610A120 |SR-M610AP 1TLA>ZAR=ILEFILV 2 0 ¥77,800 ¥89,500

ATy SIMANTS IMIBTOTF (4KEYHN) ¥13,800 ¥15,900
SIMANT4 IMIBTITF (2FEYH) ¥6,900 ¥7,900

SIMPWAC2 A CT7HT5- ¥7,500 ¥8,600

SIMPWIJ1 BRAHEI—VH ¥22,500 ¥25,900

IPCOM EX2 X% 1X25021B IPCOM EX2-11008B ¥667,000 ¥720,400
IX2S082A IPCOM EX2-3200 ¥2,277,000 ¥2,459,200

IX2S085A IPCOM EX2-3500 ¥3,887,000 ¥4,198,000

ATy IX2HPCNA 100VERS—TII ¥5,500 ¥5,900
SJ-PWCBL2  |ERS—TJIL (2 0 0 Vi) ¥6,400 ¥7,500

IX2HPWAA EX2-3200 BEATZ 3> ¥550,000 ¥594,000

IX2HPWBA EX2-3500 SR-_SEATI> ¥550,000 ¥594,000

IX2HGT2A 1000BASE-TAYH-J1-Zh—R2 () (ZHEEE(TE) ¥275,000 ¥297,000

IX2HGT4A 1000BASE-TA>9-J1-Zh—F4 ¥440,000 ¥475,200

IX2HGS2A 1000BASE-SXA>9-J1-ZAHh—R2 ¥550,000 ¥594,000

IX2HXG2A 10Gbase—-SFP+A1>5J1-Zp—K2 ¥880,000 ¥950,400

SISFPASR 10GBASE-SRASFP+ ¥253,000 ¥296,000

SISFPALR 10GBASE-LRASFP+ ¥506,000 ¥592,000

PX-CR1A05 10GBASE-CRY—JI (5m) ¥57,000 ¥66,700

IX2HCPAB ESH-RA2H ¥660,000 ¥686,400

IX2HCPBB EShH—KB 2 ¥1,980,000 ¥2,138,400

IX2HCPAC ESH-RA2E ¥330,000 ¥356,400

IX2HHB1A IPCOM EX2-11008HDD1 ¥110,000 ¥118,800

IX2HHD1A IPCOM EX2-3500/3200AHDD1 ¥110,000 ¥118,800

IX2HMEM3A |[IPCOM EX2-3000 DCYJhJI7 V0 2 FHERAEY ¥550,000 ¥594,000

IX2HRMAA IPCOM EX2-1100A3vIXI>byb ¥33,000 ¥35,600

= YAZANMT =TI [TPCBL-B005 |YAAMTT-TIL 2,650 3,100
H73U-5 TPCBL-B010 |YAANMTT =TI 3,000 3,500
TPCBL-B015 |YAZANMTT-TIL 3,600 4,200

TPCBL-B030 |YAANMTT—=TIL 5,500 6,400

TPCBL-B050 |YAANMTT-TIL 7,900 9,200

TPCBL-B100 |YAZAMTT =TIl 13,800 16,100

YAZANMT =TI |[TPABLOOIM |YAZAMTFT =TI 1 m. F. A7JU5 e 700 800
$H73Y-5e TPABLOO2M  |YAZAMTT =TIl 2m. F. #h7JU5 e 1,400 1,600
TPABLOO3M  |YAZAMTT =TIl 3m. F. #7JU5 e 2,100 2,500

TPABLO04M  |YAZAMTFI =TIl 4m. F. #7JU5 e 2,800 3,300
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YARMTT =TI |TPABLOOSM [YAAMTT—TIb, 5m, F. #7IU5 e 3,500 4,100
H7IY-5e TPABLO1OM [YAAMTZ =TI, 1 0m. &, h7JU5 e 3,900 4,600
TPABLO15C  [YAAMTT =TI, 15 cm. & #7TU5 e 300 400
TPABLO15M [YAAMTT—=TIb, 1 5m. &, h7JU5 e 4,700 5,500
TPABLO30C  [YAAMTZ=TIb, 30 cm. &, h7TU5 e 400 500
TPABLO30OM  [YAAMTT—=TIb, 30m. &, h7JU5 e 7,200 8,400
TPABLO50C  [YAAMTZ=TIL, 50 cm, &, #7JU5 e 500 600
TPABLOSOM  [YAAMTZ—=TIb, 5 0m. &, h7JU5 e 10,300 12,100
TPABL10OM |YAZAMTPS =TI, 1 0 0m, F. Ah7JYU5 e 18,000 21,100
TPAGROO1IM |YAZAMTPT—=TIb 1 m. ¥k h7JYU5 e 700 800
TPAGRO02M |YAZAMTT=T)b 2m. #& h7JYU5 e 1,400 1,600
TPAGROO3M |YAZAMTPT=TIL 3m. #& h7JYU5 e 2,100 2,500
TPAGRO04M |YAZAMTPT—TIb 4 m. #& h7JYU5 e 2,800 3,300
TPAGROOSM |YAZAMTPT—T)L. 5m. #& h7JYU5 e 3,500 4,100
TPAGRO10M |YAZAMTPT—=T)b 1 0m. ¥ H7JYU5 e 3,900 4,600
TPAGRO15C |YAZAMTPT =T 15 cm. ¥ H7JYU5 e 300 400
TPAGRO15M |YAZMTPT—T)b. 1 5m. #& h7JYU5 e 4,700 5,500
TPAGRO30C |YAZAMTST =TIl 30 cm. ¥ H7JYU5 e 400 500
TPAGRO30M |YAZMTPT—=TIL. 3 0m. ¥ h7JYU5 e 7,200 8,400
TPAGRO50C |YAZAMTPST =TIl 50 cm. ¥ h7JU5 e 500 600
TPAGRO50M |YAZAMTPT—=T)L. 5 0m. #& h7JYU5 e 10,300 12,100
TPAGR100M |YAZMTPT =TIl 1 0 0m. ¥ h7JYU5 e 18,000 21,100
TPALBOOIM |YAZAMTPT =TI 1 m &EF, h70YU5 e 700 800
TPALBOO2M  |YAZAMTPT =TI 2m. &&F, h70Y5 e 1,400 1,600
TPALBOO3M |YAZAMTPT =TIl 3m. &&F, h7JYU5 e 2,100 2,500
TPALB004M  |YAZMTPT =TI 4 m. &F, h70Y5 e 2,800 3,300
TPALBOOSM  |YAZAMTPT—=TJIL. 5m.&&F, h7JY5 e 3,500 4,100
TPALBO10OM |YAZAMTSI =TIl 1 0m. &HF. h70YU5 e 3,900 4,600
TPALBO15C  |YAAMMTT =TIl 15 cm &F #70YU5 e 300 400
TPALBO15M |YAZAMTPS =TIl 1 5m. &HF. h70U5 e 4,700 5,500
TPALBO30C |YAAMMTFS =TIl 30 cm.&HF. #70Y5 e 400 500
TPALBO30OM |YAZAMTST =TIl 3 0m. &HF. h70U5 e 7,200 8,400
TPALBO50C  |YAAMMTFST =TIl 50 cm.&&F. #70U5 e 500 600
TPALBO5OM  |YAZAMTFT =TIl 5 0m. &HF. h7JYU5 e 10,300 12,100
TPALB10OM |YAZAMMTFS =TIl 1 0 0m. &F. #70Y5 e 18,000 21,100
TPALGOO1M |YAZAMTFT =TI 1 m IR, A7JY5 e 700 800
TPALGO02M  |YAZAMTFT =TI 2m. IR, #7JY5 e 1,400 1,600
TPALGOO3M  |YAZAMMTFT—=TIL. 3m. IR, #7JY5 e 2,100 2,500
TPALGO04M |YAZMTFT =TI 4 m. IR, h7JY5 e 2,800 3,300
TPALGOOSM  |YAZAMTT—=T)L. 5m. IR, #7JY5 e 3,500 4,100
TPALGO10M |YAZAMTFT =TI 1 0m. IR, #7JY5 e 3,900 4,600
TPALGO15C  |YAZAMMTFI =TIl 15 cm K, A7JYU5 e 300 400
TPALGO15M |YAZAMTPT—=T)b. 1 5m. K, A7JY5 e 4,700 5,500
TPALG030C  |YAAMMTFST =TIl 30 cm. R, A7JY5 e 400 500
TPALGO30M |YAZAMTFST =TIl 3 0m. IR, #7JY5 e 7,200 8,400
TPALGO50C  |YAZAMTFST =TIl 50 cm. [k, #7JY5 e 500 600
TPALGO50M  |YAZMTPT—=T)L. 5 0m. [k, #7JY5 e 10,300 12,100
TPALG100M |YAZAMTFSI =TIl 1 0 0m. IR, #7JYU5 e 18,000 21,100
TPAOROOIM |YAZAMTT =TI 1 m AL>S #7TU5 e 700 800
TPAOROO2M |YAZAMTT=TIb. 2m. AL>S #7TY5 e 1,400 1,600
TPAOROO3M |YAZAMTT—=TIb. 3m. AL>S #7TU5 e 2,100 2,500
TPAORO04M |YAZAMTT=TIb. 4 m. AL>S, #7TU5 e 2,800 3,300
TPAOROO5M |YAZAMTT=TIb. 5m. AL>S #7TU5 e 3,500 4,100
TPAORO10M |YAZAMTT=TIb. 1 0m. AL>S, #7TY5 e 3,900 4,600
TPAOR015C |YAZAMMTFT =TIl 15 cm  AL>S #7TU5 e 300 400
TPAORO15M |YAZAMTFT—=TIb. 1 5m. AL>S #7TY5 e 4,700 5,500
TPAORO30C |YAAMMTST =TIl 30 cm, AL>S #7TU5 e 400 500
TPAORO30M |YAZAMTT=TIb. 3 0m. AL>S, #7TY5 e 7,200 8,400
TPAORO50C |YAAMMTST =TIl 50 cm, AL>S, #7TU5 e 500 600
TPAORO50M |YAZAMTT—=T)b. 5 0m. AL>S, #7TY5 e 10,300 12,100
TPAOR100M |YAZAMTST—=T)b. 1 0 0m, AL>S #7TU5 e 18,000 21,100
TPAPNOOIM |YAZAMTFT—=TIL. 1 m Bk #7TU5 e 700 800
TPAPNOO2M  |YAZAMTFT=T)b. 2m. Bk #7TU5 e 1,400 1,600
TPAPNOO3M |YAZAMTFT—=T)L. 3m. Bk #7TU5 e 2,100 2,500
TPAPNOO4M  |YAZAMTFT—=T)b. 4 m Bk #h7TU5 e 2,800 3,300
TPAPNOOSM  |YAZAMTFT—=T)L. 5m. Bk #7TU5 e 3,500 4,100
TPAPNO1OM |YAZMTFT =TIl 1 0m. Bk A7TU5 e 3,900 4,600
TPAPNO15C  |YAZAMMTT =TIl 15 cm. Bk #7TU5 e 300 400
TPAPNO15M |YAZMTPT—=T)b. 1 5m. Bk #7TU5 e 4,700 5,500
TPAPNO30C |YAZAMMTT =TIl 30 cm. Bk #7TU5 e 400 500
TPAPNO30M |YAZMTFT =TIl 3 0m. Bk #7TU5 e 7,200 8,400
TPAPNO50C  |YAZAMTS =TIl 50 cm. Bk #7TU5 e 500 600
TPAPNO50M  |YAZAMTP—=T)L. 5 0m. Bk #h7TU5 e 10,300 12,100
TPAPN10OM |YAZMTPT =TIl 1 0 0m. Bk #7TU5 e 18,000 21,100
TPAPUOOIM |YAZAMTFT—=T)L. 1 m. & H7JU5 e 700 800
TPAPUOO2M  |YAZAMTFT—=T)L. 2m. & H7JU5 e 1,400 1,600
TPAPUOO3M  |YAZAMTT =TIl 3m. & #7JU5 e 2,100 2,500
TPAPUO04M  |YAZAMTT—=T)L. 4 m. & H7JU5 e 2,800 3,300
TPAPUOO5M  |YAZAMTFT =TIl 5m. & #7JU5 e 3,500 4,100
TPAPUO10M |YAZMTFT =TIl 1 0m. & H7JU5 e 3,900 4,600
TPAPUO15C  |YAZAMTT =TIl 15 cm. & H7JU5 e 300 400
TPAPUO15M |YAZMTFI—=T)L. 1 5m. & H7JU5 e 4,700 5,500
TPAPUO30C |YAZAMMTT =TIl 30 cm. ¥ H7JU5 e 400 500
TPAPUO30M  |YAZAMTFT =TIl 3 0m. & A7JU5 e 7,200 8,400
TPAPUO50C  |YAZAMTT =TIl 50 cm. ¥ H7JU5 e 500 600
TPAPUOS0M [YAZMTZ—TIb, 5 0m. & H7JYU5 e 10,300 12,100
TPAPU100M [YAZMTZ—TIb, 10 0m, & H7TU5 e 18,000 21,100
TPAREOOIM |YAZMTFT=T)b. 1 m. 7k A7JU5 e 700 800
TPAREO02M  |YAZMTPT—=T)b. 2m. 7x A7JU5 e 1,400 1,600
TPAREOO3M |YAZAMTT—=T)b. 3m. 7 A7JU5 e 2,100 2,500
TPARE004M |YAZMTFT—=TIb. 4 m. 7x A7TU5 e 2,800 3,300
TPAREOO5M  |YAZMTPT—=T)b. 5m. 7x A7JU5 e 3,500 4,100
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YARMT =TI |TPAREO1OM [YAZAMTZ—TIb, 1 0m. 75 h7IUS e 3,900 4,600
H7IY-5e TPAREQ15C  [YAAMTZ=TIb, 15 cm, 7K A7TUS5 e 300 400
TPAREQ15M [YAAMTT—=TIb, 1 5m. 75 h7JU5 e 4,700 5,500
TPARE030C  [YAAMTZ—TIb, 30 cm, 7K A7TUS5 e 400 500
TPAREO30M [YAAMTZ—=TIb, 3 0m. 75 h7JU5 e 7,200 8,400
TPAREOS0C  [YAAMTZ=TIb, 50 cm, 7K A7TUS5 e 500 600
TPAREOS0M [YAAMTZ—=TIb, 5 0m. 75, h7JU5 e 10,300 12,100
TPARE100M [YAAMTZ=TIb, 10 0m, 75 A7TUS5 e 18,000 21,100
TPAYEOOIM |YAZMTPT =Tl 1m. &, h7JY5 e 700 800
TPAYEOO2M |YAZAMTPT =TI 2m. &, h7JYU5 e 1,400 1,600
TPAYEOO3M |YAZAMTPST =TIl 3m. &, h7JYU5 e 2,100 2,500
TPAYEQ04M  |YAZAMTPT =TIl 4m. &, h7JYU5 e 2,800 3,300
TPAYEOOSM  |YAZMTPT =TIl 5m. &, h7JYU5 e 3,500 4,100
TPAYEO1OM |YAZAMTPS =Tl 1 0m. &, h7JY5 e 3,900 4,600
TPAYEQ15C |YAZAMTPT =TI 15 cm. &, h70YU5 e 300 400
TPAYEQ15M |YAZMTPS =Tl 1 5m,. &, h70Y5 e 4,700 5,500
TPAYEO30C |YAAMTPS =TI, 30 cm. &, #7JYU5 e 400 500
TPAYEO30M |YAZAMTPS =TI, 3 0m. &, #h70Y5 e 7,200 8,400
TPAYEO50C |YAZAMTPST =TIl 50 cm, &, #7JYU5 e 500 600
TPAYEOS50M |YAZMTPT =TIl 5 0m. &, #7JY5 e 10,300 12,100
TPAYE100M |YAZAMTPS =Tl 10 0m, &, Ah7JYU5 e 18,000 21,100
YARMT=T)  |TPDLBOOIM [YAZMRTZ—TIb. 1 m. @5 H70Y5 e R 1,900 2,200
H73Y-5e, HEHR TPDLB002M |YAZAMTPT =TI 2m. &F, h70Y5 e #lfE 2,000 2,300
TPDLBOO3M |YAZAMTT =TI 3m. &F, h70Y5 e, #lfE 2,200 2,600
TPDLB004M |YAZAMTT =TI 4 m.&F, h70Y5 e #lfE 2,800 3,300
TPDLBOOSM  |YAZAMTPT—=TIL. 5m. &&F., h70Y5 e #lfE 3,500 4,100
YAZAMMT =TI [TPBBLOOIM |YAZAMTPT =TIl 1m. & h7IY6 1,300 1,500
H7IV-6 TPBBLOO2M  |YAZAMTFT =TI 2m. &, #h73Y6 2,600 3,000
TPBBLOO3M _ |YAZAMMTFT =TIl 3m. &, #77Y6 3,800 4,400
TPBBLO04M  |YAZAMTT =TIl 4m. & #h7JY6 5,100 6,000
TPBBLOOSM _ |YAZAMMTST =TI 5m. & A7V 6 6,300 7,400
TPBBLO10M |YAZAMMTST =TIl 1 0m. & #h7IY6 7,100 8,300
TPBBLO15C  |YAAMMTT =TI 15 cm. & A7IY6 600 700
TPBBLO15M  |YAZAMTFT =TIl 1 5m. & Ah7JY6 8,500 9,900
TPBBLO30C  |YAAMMTFS =TIl 30 cm. & #7JY6 800 900
TPBBLO30OM _ |YAZAMMTST =TIl 3 0m. F. #7JY6 13,000 15,200
TPBBLO50C  |YAAMTS =TIl 50 cm. & #7JY6 900 1,100
TPBBLO5OM _ |YAZAMTFT =TIl 5 0m. & #h7JY6 18,600 21,800
TPBBL100OM |YAZAMTFS =TIl 1 0 0m. F. #h7JY6 32,400 37,900
TPBGROO1IM |YAZAMTFT—=TIb. 1 m. #& H7IY6 1,300 1,500
TPBGRO02M |YAZAMTFT=TIb. 2m. #& H7IY6 2,600 3,000
TPBGROO3M |YAZAMMTT—=TIb. 3m. #& H7IY6 3,800 4,400
TPBGRO04M |YAZAMTT—=TIb. 4 m. #& H7IY6 5,100 6,000
TPBGROO5SM |YAZAMTT—=TIL. 5m. #& A7V 6 6,300 7,400
TPBGRO10M |YAZAMTFT—=TIL. 1 0m. #& H7IY6 7,100 8,300
TPBGRO15C |YAAMMTT =TI 15 cm. #& H7JY6 600 700
TPBGRO15M |YAZAMTPST—=TIL. 1 5m. #& #7JY6 8,500 9,900
TPBGRO30C |YAAMMTFST—=TIL. 30 cm. #& #7JY6 800 900
TPBGRO30M |YAZAMTST =TIl 3 0m. #& A7V 6 13,000 15,200
TPBGRO50C |YAAMTST =TIl 50 cm. #& #7JY6 900 1,100
TPBGRO50M |YAZAMTFT =TIl 5 0m. #& A7V 6 18,600 21,800
TPBGR100M |YAZAMTFI—=T)L. 1 0 0m. #& #7JYU6 32,400 37,900
TPBLBOOIM |YAZAMTT =TI 1 m &F. h7IY6 1,300 1,500
TPBLBO02M  |YAZAMTT—TIL. 2m. &F. h7JY6 2,600 3,000
TPBLBOO3M |YAZAMTT =TIl 3m. &F. h70Y6 3,800 4,400
TPBLB004M |YAZAMTT =TIl 4 m. &F. h7IY6 5,100 6,000
TPBLBOO5M |YAZAMTT =TIl 5m.&F. h70Y6 6,300 7,400
TPBLBO10M |YAZAMTFT—=TJIL. 1 0m. &F. h7JY6 7,100 8,300
TPBLB015C  |YAAMMTFT =TIl 15 cm. &F. #7JY6 600 700
TPBLBO15M |YAZAMTFT—=TJIL. 1 5m.&F. h7JY6 8,500 9,900
TPBLB030C |YAAMMTSI =TIl 30 cm. &F. #70Y6 800 900
TPBLBO30M |YAZAMTFT—=TJIL. 3 0m. &F. h7JY6 13,000 15,200
TPBLBO50C  |YAAMMTST =TIl 50 cm. &F. #70Y6 900 1,100
TPBLBO5OM  |YAZAMTFT—=TJIL. 5 0m. &F. h7JY6 18,600 21,800
TPBLB10OM |YAZAMTFS =TIl 1 0 0m. &F. h70Y6 32,400 37,900
TPBLGOO1IM |YAZAMTFT =TI 1 m. IR, A7TY6 1,300 1,500
TPBLGO02M  |YAZAMTT—=TIb. 2m. IR, 7TV 6 2,600 3,000
TPBLGOO3M  |YAZAMTT—=T)b. 3m. IR, 7TV 6 3,800 4,400
TPBLG004M |YAZAMTT—=TIb. 4 m. IR, A7TYU6 5,100 6,000
TPBLGOO5SM  |YAZAMTFT—=T)b. 5m. IR, 7Y 6 6,300 7,400
TPBLGO10M |YAZAMTT =TIl 1 0m. IR, 7TV 6 7,100 8,300
TPBLGO15C  |YAAMTT =TI 15 cm K, A7IY6 600 700
TPBLGO15M |YAZAMTFT—=TIL. 1 5m. K, A7TY6 8,500 9,900
TPBLGO30C  |YAAMMTT =TI 30 cm. K, A7IY6 800 900
TPBLGO30M |YAZAMTT =TIl 3 0m. IR, 7TV 6 13,000 15,200
TPBLGO50C  |YAAMTT =TIl 50 cm. K, A7IY6 900 1,100
TPBLGO50M  |YAZAMTT =TIl 5 0m. IR, A7V 6 18,600 21,800
TPBLG10OM |YAZAMTFI =TIl 1 0 0m. IR, A7JYU6 32,400 37,900
TPBORO01IM |YAZAMTT =TI 1 m  AL>S #7TY6 1,300 1,500
TPBOR002M |YAZAMTFT—=TIL. 2m. AL>S, #7TY6 2,600 3,000
TPBORO03M |YAZAMTT—=TIL. 3m. AL>S, #7TY6 3,800 4,400
TPBOR004M |YAZAMTT—=TIb. 4 m.  AL>S, #7TY6 5,100 6,000
TPBORO05M |YAZAMTFT—=TIL. 5m. AL>S, 770U 6 6,300 7,400
TPBORO10M |YAZAMTT =TIl 1 0m. AL>S, #7TY6 7,100 8,300
TPBOR015C |YAZAMMTFT =TI 15 cm. AL>S #7TY6 600 700
TPBORO15M |YAZAMTT=TIL. 1 5m. AL>S #7TU6 8,500 9,900
TPBOR030C _|YAANMTT—=TIL. 30 cm. AL>S #7TU6 800 900
TPBORO30M |YAZAMTT=TIL. 3 0m. AL>S, #7TU6 13,000 15,200
TPBOR050C _ |YAAMTT~=TIL. 50 cm. AL>S, #7TU6 900 1,100
TPBORO50M |YAZAMTT—=TIL. 5 0m. AL>S, #7TU6 18,600 21,800
TPBOR100M |YAZAMTT~TIL. 1 0 0m. AL>S, #7TU6 32,400 37,900
TPBPNOO1M [YAZMTZ—TIb, 1 m. ¥k H7IY6 1,300 1,500
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YARMTT =TI |TPBPNOO2M |YAAMTT—=TIb, 2 m. Bk H7TY 6 2,600 3,000
H7IU-6 TPBPNOO3M _[YAAMTZ—=TIb, 3m. Bk h7IU6 3,800 4,400
TPBPNO04M [YAAMTZ—=TIb, 4 m. Bk H7TU6 5,100 6,000
TPBPNOO5M _[YAAMTZ—=TIb, 5m. Bk h7IU6 6,300 7,400
TPBPNO10M [YAAMTZ—=TIb, 1 0m. Bk h7IU6 7,100 8,300
TPBPNO15C  [YAAMTPZ =TIk, 15 cm, #k H7TU6 600 700
TPBPNO15M  [YAAMTS—=TIb, 1 5m. Bk h7IU6 8,500 9,900
TPBPNO30C  [YAAMTZ—=TIb, 3 0 cm, k. H7TU6 800 900
TPBPNO30OM _ |YAZAMTPT—=TIL. 3 0m. ¥k 7TV 6 13,000 15,200
TPBPNO50C  |YAZAMTPST—=TIL. 50 cm. ¥k 7TV 6 900 1,100
TPBPNO5OM  |YAZAMTPT—=T)L. 5 0m. ¥k 7TV 6 18,600 21,800
TPBPN10OM |YAZAMTPS—=T)L. 1 0 0m. ¥k Hh7TY6 32,400 37,900
TPBPUOOIM |YAZAMTT—=TIb 1 m. & h7JY6 1,300 1,500
TPBPUOO2M  |YAZAMTT—TIL, 2m. & h7JY6 2,600 3,000
TPBPUOO3M  |YAZAMTPT—=TIL. 3m. % h7JY6 3,800 4,400
TPBPUO004M |YAZAMTT—=TIb 4 m. & h70Y6 5,100 6,000
TPBPUOOSM  |YAZAMTPT—=TIL. 5m. % h7JY6 6,300 7,400
TPBPUO1OM |YAZAMTPT =TIl 1 0m. % h70Y6 7,100 8,300
TPBPUO15C  |YAZAMMTPT =TI 15 cm. % h7JY6 600 700
TPBPUO15M |YAZAMTPT—TJIL. 1 5m. % h70Y6 8,500 9,900
TPBPUO30C  |YAAMTT =TI 30 cm. % h7JY6 800 900
TPBPUO30M |YAZAMTPT =TIl 3 0m. % h70Y6 13,000 15,200
TPBPUOS0C  |YAZAMTPT—=TIL. 50 cm. % h7JY6 900 1,100
TPBPUOSOM  |YAZAMTPT =TIl 5 0m. % h70Y6 18,600 21,800
TPBPU100M |YAZAMTPT—=T)L, 1 0 0m. % h7JY6 32,400 37,900
TPBREOO1IM |YAZAMTPT—=TIb. 1 m. 7k A7TY6 1,300 1,500
TPBRE002M |YAZAMTPT—=T)b. 2m. 7x Ah7TY6 2,600 3,000
TPBREOO3M  |YAZAMTT—=T)b. 3m. 7x A7V 6 3,800 4,400
TPBRE004M |YAZAMTT—=TIb. 4 m. 7k A7TY6 5,100 6,000
TPBREOOSM  |YAZAMTFT~T)b. 5m. 7x A7TY6 6,300 7,400
TPBREO1OM |YAZAMTFT—=TIL. 1 0m. 7x A7IY6 7,100 8,300
TPBREO15C  |YAZAMMTFT =TI 15 cm. 7k A7IY6 600 700
TPBREO15M |YAZAMTFT =TI, 1 5m. 7k A7IY6 8,500 9,900
TPBRE030C |YAAMTFST =TIl 30 cm. 7 A7JY6 800 900
TPBREO30M |YAZAMTFST—=TIL. 3 0m. 7x A7V 6 13,000 15,200
TPBREO50C  |YAZAMTST—=TIL. 50 cm. 7 A7V 6 900 1,100
TPBREOSOM  |YAZAMTFST—=T)L. 5 0m. & A7V 6 18,600 21,800
TPBRE100M |YAZAMTFS~T)L. 1 0 0m. 7x A7IY6 32,400 37,900
TPBYEOOIM |YAZAMTFT =TI 1 m. & h7JY6 1,300 1,500
TPBYEOO2M  |YAZAMTT =TI 2m. &, #h7JY6 2,600 3,000
TPBYEOO3M |YAZAMMTT =TIl 3m. &, #h7JY6 3,800 4,400
TPBYEQ04M |YAZAMTT—=TIL. 4 m. &, h7JY6 5,100 6,000
TPBYEOOSM  |YAZAMMTPT—=TJIL. 5m. &, #h7JY6 6,300 7,400
TPBYEO1OM |YAZAMMTFT =TIl 1 0m. &, Ah7JY6 7,100 8,300
TPBYEO15C |YAAMTPT =TI 15 cm. & h7JY6 600 700
TPBYEO15M |YAZAMTPS =TI 1 5m. &, h7JY6 8,500 9,900
TPBYEO30C |YAAMMFS =TIl 30 cm. &, A7JY6 800 900
TPBYEO30M |YAZAMTSI =TIl 3 0m. &, #7JY6 13,000 15,200
TPBYEO50C |YAAMTFSI =TIl 50 cm. &, A7JY6 900 1,100
TPBYEOS50M  |YAZAMTFT =TIl 5 0m. &, #h7JY6 18,600 21,800
TPBYE10OM |YAZAMTFS =TIl 10 0m. &, A7JY6 32,400 37,900
YAANMT~T),  |TPEBLOOSM |LANZ=J)L (5m) 7,000 8,200
H7IU-6A TPEBLO1OM |LAN%=J)L (1 0m) 7,800 9,100
TPEBLO15M |LAN%=J)L (15m) 9,400 11,000
TPEBLO9OM] |LANZ=J)L (9 0m) 40,000 46,800
Ko-J L-B1SA005  [S& =TI (#7427 —TJIl) GIRKE 39,000 45,600
L-B1SA010 |35 —TJ) (AT12&5—T)) GIRKE 44,000 51,500
L-A1SA005 |3F—TJ) (A742&—J)V) SM KKK 10um 45,000 52,700
L-A1SA010 |35 —TJ) (A742&—J)V) SM KKK 10um 50,000 58,500




